)
(ii)

Time Allowed : Three Hours]

Printed Pages : 4 Roll No.
Questions :9 .Sub. Code: 0/1]4f1

Exam. Code: [0]/0]0]2

B.A./B.Sc. (General) 2™ Semester
1059
SOCIOLOGY (In all Mediums)
Paper—Sociology Stratification
[Maximum Marks : 90

Note :(— (1) Attempt five questions in all; Question No. 1

k.

2

3.

is compulsory.

(2) Attempt four questions, selecting one question from
each Unit.

(3) All questions carry equal marks.

Attempt any nine parts in 4-6 lines each :

@
(i)
(i)
()
V)
(i)
(vid)
(viid)
(x)
®)
(i)
(xit)

Social Stratum

Prestige

Means of Production

Class struggle

Power

Caste

Class-in-itself

Stereotypes

Discrimination

Gender Discrimination

Inter-generational Mobility

Income. 2x9=18
UNIT-I

Explain why social inequality exists and discuss its various types.

OR

Define social stratification and explain its characteristics in detail.

18

0141/FQZ-16666(T) 1 [Turn over



e-1
2. WIS SEAMAT F. ANE & e HY IR e fafe
TR 9T gE e |
g
3. g wdwor F gl S R s Rt & aR
¥ R § aren #:¥) 18
i1
4. ot gud P w weE Rgia w owrem w5
Fear
5. 3w ik X F wleww & fagia o wr@n #3118
i1
6. TWAPW P wWed B &Y H o IR g & @9 eww
T gE R |

T
7. AN ¥ dfe smHEa & BT d@del ) o==f #1118
gFe-1Iv
8. g Tieiaar @97 8 ? 3Ed AR Rl # IS gid
T Y |
AT
9. fwR § w=f X & Rer IR @ gt afehiear =
a9 guifad a2 | 18
(damet nigee)

d2:- (1) o5 A yms &9, YA &89 1 st J
(2) W gfee fed fea yms & 9= J9e 9T, 879 yrs
9|
(3) AT yAs' ¥ nid g9Ed TS|
1. dg & g9, J9x 4-6 FEtet feg &9
() FHS AedeH
(i) A
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eI
2. UHING EATTAT F. HNE & e #Y IR e e
YHRI U =E HR |
Far
3. gEiee WhHor 1 gt #Y R e Rt & IR
¥ iR § arenm X 18
eI
4, =t g & @l A Rgia A @@ w3
Fqar
sfm iR R F wliww & Rgld & @rem ) 18
gfe-II1
6. WARW P WEA P &Y H I M Wi d o9 Fe@d
R gEl #R |

b

Foqar
7. S ¥ e smwEar T gdasl ) ==l S0 18
eIV
8. e Tfaeicrar 1 8 ? 3 faltr gl # Iemr |ied
qreT Y |
FgaT
9. fomR q ==f FX & Rer IR oam g nfoeieer
Y yafdq #a F | 18
(damet nigeTe)

32— (1) o5 U yms o9, YyAs du9 1 &t I
(2) I gfee fed fea ums &t 92 e I8, 979 yrs
a9 |
3) AT yHs' € wig gIEd TS|
1. o=t & 34, I3 4-6 HEST feg a9 :
(i) FHS AedeH

@ Yrem
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(i) B3u=s T AUs
(iv) <9I AwIH
(v) w3t
Vi) =t
(vi) AR &9 =9ar
(viil) gFt=Tet
(ix) fezaer
x) f&ar feza@r
xi) fé€eg Hfgfsdt AoIme®
(xi)) MTHEST | 2x9=18
gfee-I
2. AHTAE viAHasT a8 Hge 3 fonfimr a9 w3 for @ Su-y
famyt g9 99T &3 |

A
3. AHfAa Asdlaes & ufesas a9 w3 fem St feRmset &

ferag R fenrfimr &3 18
4. mﬁmémmﬂ;{;@éﬁmﬁwa{%l
5. éﬁnﬁ@émﬂéméﬁnﬂﬁmaé 18
6. Haaﬁaaﬁ%negw%guf%;;;wm%mﬁamfézaéﬂ
g9 gIur IS |

"t
7. AW 9 & wiAHssT @ 4-d poa’ ¥9 I9u' 91 18

-1V
8. AN IIStH®3T &t @ ¢ fom et -2y famdt g9 Beogst
T 5% fenrfimr a3
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